
Question -1) What underlying assumption is made about the nature of American democracy
in the early years post-World War II?

A. American democracy was unchanging and rigid.
B. American democracy had clear distinctions between democracies and dictatorships.
C. American democracy was flexible and influenced by international alliances.
D. American democracy had no influence on its foreign policy.

Question -2) The author assumes which of the following about the current state of civility and
forbearance in U.S. presidential politics?

A. Civility and forbearance are stronger than ever.
B. Civility and forbearance are no longer prevalent.
C. Civility and forbearance have always been weak.
D. Civility and forbearance were never part of U.S. politics.

http://t.me/Daily_CR


Question -3) What does the passage imply about the Supreme Court’s decision on presidential
immunity?

A. It strengthens checks on presidential power.
B. It ensures that Presidents cannot be prosecuted for any actions.
C. It removes some restrictions on presidential abuse of power.
D. It places Presidents completely above the law.

Question -4) What assumption does the author make about the impact of the Supreme Court
ruling on American democracy?

A. It will have no impact on American democracy.
B. It will positively impact American democracy.
C. It will negatively impact American democracy.
D. It will only affect the judicial branch.

Question -5) What underlying belief does the passage suggest about the role of the
administrative state in U.S. governance?

A. It is essential for addressing social problems and welfare.
B. It is unnecessary and should be dismantled.
C. It has always been opposed by all political factions.
D. It has never played a significant role in U.S. governance.

Question -6) The passage assumes which of the following about the populist faction within
the Republican Party?

A. It supports traditional democratic norms.
B. It favors a strongman leadership style.
C. It opposes any form of centralized power.
D. It is predominantly composed of urban, educated voters.
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